71E 2ME:

1. A driver's license is required for which of the following?

[2H] 2XHBIS0| 228 =2

| . Sitting in the driver's seat of a car while the engine is running.

Il. Steering a car while it is being pushed or towed by another vehicle.
NS0l Zelxt 2840 SASMH

|I. CLEXH0 2ol BeAJtALE ZeAdl= X E 28 W

A. 1 only B. Il only C. Both | and Il D. Neither | nor Il
=Dlh

Aol BE BoeE Cot b Il ECHD. X 115 OFLICH

2. If alaw enforcement officer swears that a driver has refused a legal chemical test, the Division of Motor
Vehicles must

[2H] ST LS HAME HESH AHA S ZE20| =EHGIH, HSKHER0NAE
A. place the driver on probation

B. wait for a court decision before taking action

C. assign the driver to the Driver Improvement Clinic

D. revoke the driver's license for at least 12 month

[221]

A 2EME EHERNZ 2 2ZF ofloF &HC

B. == FotJl&™ MEao gZ S JICe OF 8Lt
C. SHANE 2 M= Jt== HoloF & Ct
D. zlast 1212 S 2HHGIE F&Z HOF &Lt

3. Which of the following happen(s) under the point system?
[2H] 2EME0 L= A2?

| . A driver is sent a warning letter when he gets 4 points within 3 years.
IlI. A driver who gets 12 points within 3 years may lose his license.

| . SFADF 3 ELHO 4 B (EZQE)S HHEH Z D SKAE 2H =L
. 2&ADEF 3EUH 12 B(EZE)S LHEH 2FHSGIE &N =L

[l

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl

AclBEB. e C. Tt I S0 D. I & Il & OtLICH

4. When a driver has a total of 7 points, which of the following may happen?

[2H] €& 73 0] Y= 2FA0 L= A2?

| . The driver can be required to file proof of financial responsibility.

II. The driver can have 3 points deducted if he satisfactorily completes a Driver

Improvement Clinic.
. MEBESAHE HEot:

|I. ML= S

0

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN

AclBEB. IeEC. 1Tt I S0 D. I & 11 & OtLICH



5. Conviction for which of the following carries the highest number of points?
[2H] MY =2 gE2?

A. reckless driving

B. hit and run with property damage

C. driving without a license

D. passing a stopped school bus unloading children

[21]

A SIEEIH 2XE A2

B. MATIGHE 28l WAL Y A

C. 2X0I5l 20| 2R

D. O{2I0ISS U2ls St DESHAS NUE A2

6. A driver will lose his license if he is convicted of
[2H] S2XHGIE W= =2

A. driving without a license

B. passing a stopped school bus

C. failing to yield the right of way

D. speeding more than 70 mph in a 55 mph zone

[2D1]

A. B3 L0l 2& &

B. 30l A= SusSsiHAE FE 2 [

C. R RS RAlotd LEoHA &= M

D. 550t XIY0lA 700t Ol&tez £5S & [

7. To get a revoked driver's license restored, a person must do which of the following?
[2H] FAJFE HEE S2otHH?

| . Obtain permission from the Driver License Section in Raleigh to reapply of a license.
II. Go to a driver license office, pay a restoration fee, and reapply for a license.

. el /IXIe 2HHSA=ZUA SetsS 20t T & & SHC.

II. 2HHIAMPAN It SRIEIE WD M AESHC

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 12 C. 12 I ECHD. | & 11 OFLICH

8. Roughly half of all traffic fatalities involve which of the following?
[2H] WSAtD Lol YBtg=7

| . A drunken person.

II. More than one car.

| . SF28A2 A2 &0

. XksSXHOF 8 O O & 2t =ICH,

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
AT BB IIBEC. T I SCFD. | & I & OFLICH

9. The percentage of highway deaths caused by drunken persons is about
[2XH] D=2 MY &5 SE=24E 0| XHKste HIE2?

A.10% B.50% C.25% D.67%



10. Which of the following statements about pedestrian deaths is (are) correct?
[2H] ST AF227?

| . In cities, 2 out of 5 people killed in motor vehicle accidents are pedestrians.
II. Most of the pedestrians killed in all traffic accidents are teenagers.

. SAHUNA RS AFDZ AMSSH=E AFR 59 S 232 B XL

I, WEAIDZ MGt ST HE=0] AHEAESOIT

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dlh
AT BB I C. T I SCFD. | & I & OFLICH

11. When you are walking at night along a road without sidewalks, you should do which of

the following?
[2H] 230 o=D gl= 22 Baie =2
| . Wear or carry something white.
II. Keep your back to oncoming traffic.
| . OtoF 2ME =X SUHOF StC}.

Il. B2ct= X0l SS S0k &t

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 112 C. 2 Il ECHD. | & I = OHLICH

12. At the intersection shown there are no traffic lights. Who has the right of way?
[2H] AS S0l ele AtHZI2 2AAES?
A. the person walking

B. the driver of the car

C. no one

D. whoever reaches the intersection first
[ED]]

A.SHXA UCE.

B.2 & A0l UCE.

C.OF0IHI < SiCt.

D.AFAHCIN HAH T2t AFEHOI A QUCE.

13. If you are walking along a road at nights what should you do?
[2H] XA &BH2IE ZS W7

| . Walk on the right—=hand side with the era©c.

II. Wear or carry something white.

| . XteF 2efol QEZOZ Z MOt &L},

I, Gtora 22 AHE X 6t2F S E S0 0F StCY.
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A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lh
A BB, 118 C. 12 Il ECHD. | & I & OHLICH



14.A safe driver does which of the following? [2XI] ¢& s ST ALE?
A. watches the side of the mad over the hood to stay in lane
B. frequently checks the rear view and side mirrors
C. drink coffee while driving at night to stay alert
D. keeps 2 car length between his car and the next car on the expressway
[2D1]
&S OIESHAl 201 2

A. ol 2= SAIStCY.

B. aDIEiSiP WOHE #AI 2 &L

C. o228 M A2 Ut Xteld| fIoh HUIE OtAIH & SHCt.
D. DEEZ20AM NHSX 204 CH22] HelE & X2t 10 2H ST
<t &: Rear view E st= M= S01H side mirror £ #0|efet S & StCH>

15. As you approach an intersection to make a right turns you should turn on your car’s right turn signal and
do which of the following?

[2M] AFA2 UM RIX & I LER 28012 I|0s?
| . Steer slightly toward the center of the road to give yourself room to clear the comer.
II. Hold your arm straight out the window.
. BMNEIE RH3 & = ASE UNE Y24 22 L B2z 2HEHC.
|| J:I-‘Z' l:H—OE _/.EE Z."_ [_HDl[:|,

ATeEB. e C 12 1 SCHD. |2 II= OtLICH

16. If you begin to feel sleepy while driving on a long trip, you should do which of the following?
[2H] EH2 oY 5 &30 2 =2

| . Open a window or vent to let in fresh air.

Il'. Increase your speed.

. 2204 SSEXE 210 st

. =SS YW

0d

JIE OtelCh

A. |l only B. Il only C. Both | and Il D. Neither | nor Il

17. When driving on a long trip, you should, [2M] &Hel &l S0fl=?
A. rest your eyes from time to time by fibbing them

B. avoid looking at any one thing for more than a few seconds

C. keep your eyes on the center of the road straight ahead

D. spend as much time looking in your mirrors as you do looking in front of you
=Dl

ocom>
KO bO ot
S|
P
o
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18. In order to avoid being hit in the rear by another vehicle you should do which of the following?
[2X] IR 5= O N22H Yot H?
| . Drive cautiously and use your brake often
. Check your rear view mirrors often
| . AN 2850 MSIH(Ed0IA)E X A2
S0IHE Xt= AtEStLt.
<oHM Brake = HIsJ| & Ed0/3Act
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A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
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19. Studies have shown which of the following to be a serious traffic hazard?
[2H] 2o sx1d02IE2?

| . Middle—aged drivers

[I. Slow drivers

. SY 2HAI=S

. 20| 2HAS

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
AT BB 1B C. I I SCFD. | & I & OFLICH

20. Very slow driving is especially dangerous in which of the following situations?
[2H] Otel &&= “3L3Is 2&0| SAl /s M2

| . Just after passing the crest of a hill.

II. Just after rounding a curve.

| AFIIE 2 XY

I, 22HE T2 2 = M.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB.12EC. I3 I ECHD. | & I % OFLICH

21. Which of the following statements concerning speed limits on the open road in North Carolina is (are)
correct?

[2X] =AME2H0ILIF S HE2?

| . Unless otherwise posted, the speed limit for passenger cars and pickup trucks is 65

mph.

II. The speed limit for a school activity bus is 35 mph.

. 1S EXJI 2 ER SEXUA AHESEZ 650t MAI €& == UL

I, elgsstusstHACl SEH e 350 0ICt

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB.12EC. 1D I ECHD. | & I & OHLICH

22. Which of the following statements about speed limits for cars in North Carolina is
(are) correct?

[2H] =AHSeoILE=N cHEE = H2?

| . The speed limit outside a city is 55 mph unless otherwise posted.

II. The speed limit inside a city is 25 mph unless otherwise posted.

I, HXJt g2 22 SAIE % ST Hs2 55 0t 0| Ct.

. XIS 32 TAIA ot ST HstE 25 020l

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 12 C. 1D Il ECHD. | & I = OHLICH



23. Which of the following statements about speed limits in North Carolina is (are) correct?
SAHEOIL=0 o= 2dE?

| . Unless otherwise posted, the speed limit inside a city is 35 mph.

Il. Unless otherwise posted, the speed limit for a school acitivity bus is 25

| HXJt 82 842 SAIA o S&Hste 35 0t 0ICY.

1. X 82 B3R UA2SSNSSHHA ST HESHE 25 0FL 0l C.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
AT BB I C. T I SCFD. | & I & OFLICH

24. The car rounding the curve shown has a tendency to follow which path?
[2X] RHE 22 2 W NS £2le gea?

A. Path A B. Path B C. Path C D. Path D

=pll

A.A B B.B &

0%

c.c¢

0%

D.D &

0%

25. When rounding a curve, a car tends to

[E2D]] ?RHE 22 2 W AsSxeE ™ 0| JA=It?
A. speed up

B. move to the inside of the culve

C. stay in the center of the lane

D. move to the outside of the curve

A. =50 ¥t

B. RRHA 2 tFEo=z LEll}.

C. Xt =2t & 2+CH.

D. 724 2 HtaEez £ellt.

26. When rounding a sharp corvet you should do which of the fellowing?
[2H] 256 R2HA LS s M HE H=52?

| . Stay as far to the left of your lane as possible.

II. Apply your brake in the sharpest part of the curve.

. Ot e de ZxEHez 22 == JU=d A =L

. M2 A2 220 HODIE E=0h

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lh
A TBEB. 12 C. 1D I ECHD. | & I & OHLICH

27. The driver of the car shown should

[2XM] €2 O 0l 20l= XA FE 8s27?

A. use a low gear when coming down the hill

B. pump his brake when he reaches the curve

C. apply the brake firmly and steadily going down the hill
D. speed up slightly on the curve to maintain control of the car
[ED]]

A, HEUHM LA 2 M H5 JIHE ArESHCE

B. #RHX 2 &€ & M MAHIIE &2 =Lt

C. M UMJIE H= 520 WHed 2L,

D. #2cH& LM 42t =22 WU XHE S & StCt.



28. Which of the cars shown has made a correct turn?
[2H] @222 08 UM 2H s0te IsXts?
A.Car1B.Car2 C.Car3 D. Car4

[ED]]

A 18 XsXt B.28 sk C.38 A=A D48 sk

29. To reduce speed while going down a steep hills you should do which of the following?
g g W 2 [l S5 =FHH?

| . Use a lower gear

IlI. Drive in a zigzag pattern

. M=% JIHE AtE St

I, RER=SotH SH &L

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 112 C. 12 Il ECHD. | & I = OLLICH

30. If you wish to pass the car ahead on a two-lane road, you should do which of the
following?

[2H] 2 XE SZ20AM SXE S FHollor & H=s2?

| . Blow your horn to signal your intention to the driver of the cars ahead.

IlI. Give a left turn signal to let the driver behind you allow your intention.

. X 2HAMS =2/ E BD| fIol 3= Sellt.

Il 2% 2012 HFO X 2HAU =S H St

1. Which of the cars shown may pals-?

SH] =gl T Hsxe?

A. Car 1 only B. Car 2 only C. Both cars D. Neither car
2I]]

A 18 XIsSxet B 28 UHsxt e C. 20D 2O &

3
[
[

32. Which of the cars below can pass safely?

[2HI] otXst =&0| Iisst X2

A. Car 1 B. Car 2 C. Car 3 D. Car 4 D. Neither | nor |l
=pll

A. AtsXt AB. XtsXt BC. AksXt C D. AMHsx D

33. Which of the cars shown can pass the truck safely?
[2H] Eag ot =& & = s e?

A. Car 1 only

B. Car 2 only

C. both cars

D. neither car

=pll

A 18 XS Xtet

B. 2 Y1 XS XHet

C.18 Isxtet 2 skt & O
D.1H USXE 2H UsxE oHEC



34. Passing on the right is legal on which of the following?
[2H] 222 HOoZ2 20| ¥ & & s

I . A four—lane highway with 2 lanes going in each direction.
[I. On a one—way street

|, 2 o2 2XEN U= 43 D520 A

. s 20 A

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 112 C. T3 I ECH D, | & 11 & OFLICH

35.When backing your car, you should do which of the following?
[2X] XSS ED XIHOF & AIE2?

| . Move at no more than 10 mph.

II. Keep both hands on the steering wheel.

. 100t Ol& £ = LHH CHEICY.

I, ¥E02 2EUE &=0.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 112 C. 12 Il ECHD. | & I = OHLICH

36. You are driving car A in heavy traffic. Up ahead you see car B just beginning to leave its parking space.
You should

[2H] UAsSX AE 21 e & 2B0AM ISA BIF =XS20A LIsE HE BULCH

FHegEsa?

A. speed up to pass the car pulling out

B. move a little into the left lane to get out of the way

C slow down and be prepared to stop

D. blow your horn and keep going

[2D]]

A E=EE 29 LI X2 s
B. 2% MO o2t EHGHM Il 6H2HCt.
C. 352 £0|1) €= THIZ st}

D. XS AU S2I10 222 2tCh

37. Accidents occur most frequently at which of the following?
[2RI] ALDIF X3 2MGs NH27?

s sIIA 2= 2ol bhELIth

38. Which car shown must yield?

[2XM] 220l OF o= Xt

A.Car AB. CarBC. CarCD. Car D

[2D1]

A. AIsXt AB. AtsXt BC. AksXt C D. XMH&Sx D



39.Highway accidents occur most frequently
[2M] D=2 WEADIF IF oitis =27
A. on hills
B. on cuties
C. at intersections
D. at bridges
[C'Jl]
. od OHH
B‘ 220 & 20 A
C. AtAH 2lol M
D. Ciel ol

40. The Intersection shown has no traffic lights or signs. In which order should the cars pass through the
Intersection?

[2H] 1S A8 s ZXJt e AHCIUAM XIF Sitete =X =7
A. car A, car B, car C

B. car B, car A, carC

C.carC, carA, carB

D. car B, car C, car A

[2D1]

A. AXt, B X, C Xt

B. B X, AXt, CXt

C,CXt, AXt, BXt

D. B X, CXt, AXt

41. In the situation shown, the right—of-way belongs to the
[2H] €2 Do MEAN R2EH2?

A. driver of car | only

B. driver of car 2 only

C. pedestrians only

D. driver of car 1 and the pedestrians

[2D1]

A1 XIS 28 =01H UL

B.2% NsXx 2&=0IAH UL,

C. SHXS0IA CF UCH.

D.1H Usx 282 SHX=0H UL

42. The intersection shown has no traffic lights or signs.
The law gives the right of way to

[2H] AbAHZI 0l S ASIIE WE EXNSE QICH 8 o 2)is 4AS

A. car A only
B. car A and then car B
C. car B and then car A

D.carB

[ED]]

A. A Xt=XHEH QUL

B.A X=Xt A8 B X=Xt
C.B AsXx AUs A XsXt
D. B Abs Xt



43. If you come to an unmarked intersection where it is hard to see in all directions
because of trees or buildingsi you should

[2H] 1S A5 = AHAHCI0 B20t=0 LR & 2H20 Dt M AFZ0l 201X &2
A. drive at the posted speed limit

B. stop near the center of the intersection and continue if it is safe

C. slow down and blow your hem to wart drivers who cannot see you

D. stop at the intersection and move forward slowly
[ED]]

A, HAE S0 ot & &L,

B. AtJ1cl SZHOIA XtE B0 QM otH X aietrt

C. 552 0|10 BX2 22l 20IX L= 2HALS A 2060
D. APl =0l €& B0 A5 222 L2ttt

44. When driving on a city streets you should watch out for which of the following?
SAHEZ2HM 28 & I 22 ook & H2?

| . Traffic coming from side streets.

[I. Animals or small children darting from between parked cars.

. MAUAN LU2eE XIS

1. =X IFE MOIOA S SFIHLR= s=20ILE 10t

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 118 C. T3 I ECHD. | & II% OFLICH

45. When driving in heavy traffic you should do which of the following?
[2H] HESH S20A 28 & M Follor & H=s2?

| . Watch out for drivers who make quick stops.

Il. Yield to pedestrians only at marked crosswalts.

| . @R Hel= 2HEAISE =251 0F StCt.

I, 220 A SRSUHH L2 S0

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 112 C. 2 I ECHD. | & I = OHLICH

46. If you are in the wrong lane for making a left turn at an intersections you should
[2M] AFH2 M XS oltded 2RE a0 UeH

A. go to the next intersection and turn there

B. back up and move into the correct lane for turning

C. wait until all other cars have cleared the intersection and turn

D. signal the driver in the car beside you that you intend to turn in front of him
[2D1]
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47. The most frequent type of accident on interstate highway is
[2H] DEC20M MY &2 AHDE?

A. sidewise collision

B. running of fthe road

C. rear—end collision

D. headfm collision

[2D1]

A=SBHES BE20IE C.285

I

flin
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DEHES=

48. When taking a long trip on a interstate highways you should plan on doing which of the following?
[2H] DE5C20M el 0Es & B2 HEN0E &= 242?

| . Stopping every 100 miles at a inst area.

II. Scheduling some hours of night driving to avoid heavy traffic.

| . 100 Ot OtCt SAHA0IA 2 C.

. S&e WSS Wot)| Aok S0l 2 Al2t2 2a6ted D 08 2
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A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lh
AT BB IIGEC. T I SCFHD. | & I & OFLICH

49. You are driving on an interstate highway when a breakdown forces you to the shoulder. You should
[2H] DE5C20M X D& LA 0B 2 2101 2 ol FHUAH & H

A. sit in the car until help arrives

B. tie a handkerchief to the left door handle and stand beside the left front (ender

C. raise the hood and tie a white handkerchief to the left door handle

D. raise the hood and stand behind the car so drivers of on—coming cars can see you
=lh

A, =Jt =2t= M WHX Xt H0IA B X2 JICHe! T

B. &% & &&0I0l &A1= MHE1 Xt & 2E0 M A=Ch

C. BX (A& EIl)g el &% 2 &F0/0fl ofeF &=212 ot

D. BX(A& EIH)S el &t FIUM ME8HAM 2= IS0l 2 = U &L

50. Studies have shown that under normal conditions the chance of a car being involved in an accident on an
interstate highway is greater if the driver

[2X] DEE20A NSAIDI EME I =2 A22?

A. maintains a steady speed

B. travels considerably below the posted speed limit

C. travels at the posted speed limit

D. maintains his positions relative to cars in front and behind him in his lane

[ED]]
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51. If you miss your exit on an interstate highways you can do which of the following?
[2H] D520 E7RE =32 832 FE #5527

| . Make a U-turn.

II. Go on to the next exit.

. UXE ™S el

. G2 &322 2tC.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dlh
A TBEB. 1B C. T I SCFD. | & I & OFLICH

52.A driver may be temporarily blinded at night by which of the following?
[2H] 2SS0 XA =2 &Al A ote Ad2?

| . Glare from the headlights of other cars.

II. Flame from a match he strikes to light a cigarette.

. Ot 2= NS olECH0IES =24 ¢

II. SHHE Hi*dl d&€= = [ =0te=s =22.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 12 C. 13 I CHD. | & I OFLICH

53. In which of the following situations should you use your low beams?
[2H] HZESS AsE 427

| . At night in the city.

II. In foggy or misty weather.

. Al CHOILA &SSOl

(1. CHOH 21 Ml O

A. I only B. Il only C. Both | and Il D. Neither | nor Il
=lh
A TBEB. 112 C. T3 I ECH D. | & I OFLICH

54. If the driver of an approaching car fails to dim his headlights, you should do which
of the following?

[2H] CI2=E M2 2= 2FAIIGIECI0ESE HSH oflkl $2oH FEg HES27?
| . Watch the road ahead to avoid looking at the lights of the other car.

II'. Flick your headlight beams up and down one time.

| . Ol 2= X2 2H01EE 2R 2| /ol &F 22 U201

II. lSCctOIEE st ¥ &EOICt.

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 12EC. 13 I ECHD. | & I OFLICH



55. When driving on a highway at nights you should never use your high—-beam headlights if you are
[2H] &42Es DE=C20A 22 [ GIECI0IES NEES AIE6IH Ot = AR
A. slowing down for a turn
B. traveling on a road with no median
C. going down shill
D. following another car
=Dl
A PRHER0A SHD SEE L= M
2 3l
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56. If it starts to drizzle while you are driving, you should do which of the following?
[2H] 2X56t=e S U 225 WelH FHEg ds2?

| . Slow down because the rain will loosen oil and gravel on the road.

II. Allow at least twice the normal following distance.

[ HIOF Z2BIE 2 IS0 A&ZE E252) o 52 EF=0{0f stCt.

. 88 & XIHE £0F Jt= Helel & HE s Xl &t
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A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 12 C. T3 I ECH D, | & 11 & OFLICH

57. Roads are likely to be especially slick
[2X] 20| AYs| 01N BLE?

A. just after they have been paved

B. just after it has begun to rain or drizzle
C. after it has been raining for several hours
D. in exceptionally cold, dry weather

=Dl

A. S2IEEEZS SHAF OHX

B. HIL} 2&HIJF W2l Xt OHXH
C. 2 A2t SQHHIDI W& TS
D. Ot= &1 AXs LM 0l

58. When driving through heavy fog, you should
[EX] 22 oE £ 2

A. Turn on your bright lights

B. slow down

C. follow the car in front of you closely

D. turn on your parking lights

=Dl

A e S2 0ok &ttt
B. &3l 2+t

C. YUXE I Z0t2tCt
D. =XES AL



59. When driving in a heavy snowstorm during the days you should use
[2H] =22 = H0l 28ee 3L
A. parking lights
B. low—beam headlights
C. four—way flashers
D. high-beam headlights
=pll
. =Xs2 AHOF etlh.
B. EJIEEJOIE_QI PSR
C. &2 MH2=Z 55l
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60. The best way to get good tractien on hard packed snow is to
[2H] 22 20 He! =20lA DIDHXK S IS £E2 2dE2

A. put chains on your tires

B. use snow tires

C. have lower than usual air pressure in your tires
D. carry heavy weights in your trunk

=Dl

A. HER Ol Ab=S ZO0HOF BHCH.

B. =22 EI0I{E AL OF BtCH.

C. EFOIOI0l HAAl BLF 22 222 SRIGHO0F 8L
D. EAI0 RH2 2H2 & 1D CHHOF BtCh.

61. When trying to pull away from a slippery surface in a car with a manual shift, you
should do which of the following?
[2H] +=SI10{0t 2&& N2 2 2011 EHSE 50 LA H olioF & 2427
I . Start in second or high gear.
. Accelerate rapidly.
L2H3HE2H =2 JIHUM AIESECE
. el Jp=SStit.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB I8 C. 1T I EC D I & Il OFLICH

62. When pulling a trailer down a long steep hill, you should do which of the following?
[2H] LHelZH20A EdYHE 2D 2 I & 227
| . Drive in a lower gear.
II . Keep in the right lane.
. NS JIHE AFEEHC.
. RLEE XS 0= &t

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 12 C. 13 I ECHD. | & I OFLICH



63. If your brakes fail, you should do which of the following?
Ed0/129+ D& LA Holol g Hs2?

| . Shift into a lower gear.

II. Use the emergency brake.

. M= JIH 2 dtZCt

1. BIAHMOHIIE AFZEHCE.

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 12 C. T3 I ECHD. | & I & OFLICH

64. Wet brakes can be dried out by doing which of the following?

[2H] 22 MOIIE Lele £2 gYgar

| . Turning on the heater.

II. Shifting into a lower gear and keeping light pressure on the brake pedal.
. e EXE &S0

. M=% JI0Z ot Mo 2Es &% =d =0 20

A. |l only B. Il only C. Both | and Il D. Neither | nor Il

=pll

A 1SEB IIBEC. T I ECHD. | & II1& OFLICH

65. If you have a blowout while traveling at a high speed, you should do which of the
following?

[2H] D522 dele S URAIHES 32 U3 gora?

| . Apply the brake firmly as soon as you notice the blowout.

II. Grip the steering wheel firmly to keep the car from swerving.

| . & A= SIK OtAF MG D1 E & €0t B &l

I, Xt LSxSots AS Y| ?lol SHUHE & SAHEL

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lh
AT BB 1B C. T I SCFD. | & I & OFLICH

66. When changing a flat tired you should do which of the following?
HHe WS BERE B2 I & 227

1. Put the vehicle in neutral gear. |I. Block the wheels.

1. AksXt IIHE EXH ==Ct. 1. 2HUE SH0IXA 2H ==C1.
A.lonly B. Il only C. Both | and Il D. Neither

AcleeBig-cit il SC OISl S oL

67. If your car breaks down on the highway at nights what should you do?
[2H] 230 DESZ20A XOF DELEHE & 222

| . Park the car completely off the road.

[I. Turn of the high—beam lights.

|, S20A 20l Y& R0l XS =S
. < FHR20HAN L&st 2HHS X0l "turn of" 2t HRCH
turn on' @ X 'turn off'@ X & & %I} &L} >

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB. 12 C. 1D II ECHD. | & I = OHLICH



68. If your car breaks down on a highway at night, you should do which of the following?
[2X] &=l D20 A XHOF D& LE 8 2429

| . Raise the hood and tie a white handkerchief to the left door handle.

[l. Switch on the parking light.

| . X2 22l ook &HE X2 2AZX &=F0[0 OHE 00k StCt.

. =XtS2 740k StCt.

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lh
A TBEB. 112 C. T3 I ECHD. | & I & OFLICH

69. If your vehicle has run off the road onto the shoulders you should
[2H] Xt x2S 0|l 2 2oz AF ¢S &L

A. shift quickly to a lower gear

B. brake with heavy constant pressure

C. apply the emergency brake

D. take your foot off the gas pedal gradually

[ED]]

A BIFEA HE Il 2 Bt
B. 99X 0|0 & HOol &
C. HIAMAHIIE &SSEHC.

D. X2 It 2EiAN 2SS T
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70. Skids are likely to occur on which of the following roads?
[Z2H] 0IDAXI H2 &2 MEH=?

| . One on which snow has become packed.

[I. One that has just been paved.

. =0l 20& &2,

. 3¢ &2 TS st &2,

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 112 C. 12 Il ECHD. | & I = OHLICH

71. If you have to come to a stop on an icy roads you should
[2H] 30 €2 20N Bx=HH

A. use your hand brake

B. put the brake on hard

C. apply the brake in short hard jabs

D. pump the brake pedal lightly

[ED]]

A. &= MOIIE ALESHCE

B. ZotH HOAHIIE S=
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D. HOD| 2=2 JtE A sf=CF.



72. What should you do when you begin to skid?

[2H] 01X AIE SHe I e Hs2?

| . Turn the steering wheel in the direction in which the rear end of the car is
skidding.

II. Reduce pressure on the gas pedal.

. X R0 01 NA K= g2 2HMUE el

I, Jhs 2eo ghels el

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB.12EC. 12 I ECHD. | & I OFLICH

73.A driver who is involved in an accident, should do which of the following?
[2H] NHSX AL LM S B FE HS2?

| . Make an immediate report to the nearest law enforcement agency.

II'. Notify his insurance company.

| . SAl 2 WHEA0 Al 0SHC

1. 2 & SIA0l HEFSHCt.

A. 1 only B. Il only C. Both | and Il D. Neither | nor Il

[2D1]

AT BEB.IIGEC. 1Tt I &CHD. | & I OFLICH

74. A flashing red traffic signal at an intersection means which of the following?
[2H] UXz AsSo wW2tS0| Zeels 210] 2l0lotes Bhe?

| . Slow down and proceed with caution.

II. Stop only if it is necessary to yield the right—of-way.

. EEE =50 dHA=S S0 dtete =
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A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lN
AT BB G C. T I SCFD. | & I & OtLICH

75. A flashing yellow traffic signal at an Intersection means
[2H] Xz Ass2 =2S50] ZeHels 210] 20lotes Bhe?
A. not right turn

B. yield the right-of-way

C. no left turn

D. slow down and proceed with caution

[ED]]

AL LEZELZ T= i Otulliets =
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76. A diamond-shaped sign would be used to warn drivers of which of the following driving hazards?
[2H] CHolOt2Ego ASEZHEXI AEEHE R

| .A railroad crossing.

Il .A deer crossing.

. JIXt AL =0IC}.

. =2 A€ =00

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. IBFC. 13 I ECHD. | & I = OtLICH

77. A diamond-shaped traffic sign means
[2H] CHOIOt2 S8 WS EXIJt 20|6t= bte?
A.no left turn

B. come to a full stop

C. yield the right-of-way

D. slow down and drive with care

[2D1]

A dECZRE=A

B. 2&35| E=0{0f ot= A

C. R4dds 2ot A

D. £EEE =1 2 A8 2dot= A

78. When can you disregard a signal given by a police officer directing traffic?
[2H] BwsS=ZB NAE RANE fe ERs?

| . An emergency vehicle is approaching.

II. The officer's signal is in conflict with a traffic signal,

| . 82Xt G2 M

. ASS WwSE=Z2 XNAIJHOE M.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lN
A TBEB. 12 C. 1D I ECHD. | & I & OHLICH

79. What is the main color for signs in highway work zones?
[2XM] DE5E2 SAFA S NSO FE MUA2?

A.red B.white C.orange D.green
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AOEA B GHOIAY C. XA (QRKIA) D E =M
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80. When does the law give a blind pedestrian special consideration at intersections where there are no traffic
lights?

[2H] 435S0l el UXZUHAM HE B0 &Y 2HXHH SaIt =HXI=It?

| . Only when he is alone.

Il. If he holds out a white cane or has a guide dog with him.

| . EX AS M Bt = &IC.

[I. OlCF XIZHO0IE W LEX WEAD 201 A
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A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=lh
A BB, 118 C. 12 Il ECHD. | & I & OHLICH



81.Which of the following statements about bicycle riders is (are) correct?
[2H] NHEHE Els A0 alg e s 2427
| . They must ride their bicycles facing traffic.
II. They are likely to be seriously injured in almost any collision with a car.
| . XS 0= 220 ™A E ENOE 8L

et Hs E=HE A 242 S A0IC.

A. | only B. Il only C. Both | and Il D. Neither | nor Il
=lh
A TBEB. 1B C. T I SCFD. | & I & OFLICH

82. In North Carolina, which of the following are required on all cars?
[2H] SAMEH0ILINAN HSKS E+E22 0)|e A2?

A. license plate ligths

B. courtesy lights

C. fender lights

D. backup lights

[£91]

A THEE S

B. AUHEC HEIZ 918 S
C.28) S

D. 37 £

83. Your brakes need checking if

[2H] Ml off &2 20F & ZRE?

A. there is a strong smell of gasoline in the car

B. the engine stalls at stoplights

C. light gist of wind make the car difficult to control

D there is a squeaking noise when you step on the brake

st | 2m EMIOt I
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84. Which of the following statements about horns and sirens is (are) correct?
[2H] K EEI ol ol & == H2?

| . Every licensed motor vehicle must have a horn.

II. Only law enforcement and emergency vehicles may have sirens.

. S5E 2= A2 3F 0| JANO0F stlh.
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. Z22Jl= dZx SsSie & = UL

A. |l only B. Il only C. Both | and Il D. Neither | nor Il
=Dl
A TBEB I2EC. 1T I EC D I & II& OFLICH

85. Every motor vehicle must be equipped with
[2H] 2 ISKte 2527

A. a muffler B. 4-ply tires C. mudguards D. shoulder harnesses
[ED]]
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86. The system that carries harmful fumes from the engine to the rear of the car and releases them is called

the

[2H] UM U= HES Xt LREC2 BEU SEAI9I

A. ignition system

B. fuel system

C. suspension system
D. exhaust system
[ED]]

A. B3tEX B. A=2&X C. MHUHHEEX D. tHEEX

87. A leaky exhaust system should be repaired because it

[2X] DI #2 8iE &XIE 0F™ OF ol= 0l E?
A. wastes gas and oil

B. causes the engine to run hot

C. may allow dangerous fumes to enter the car

D. makes the engine hard to start and likely to stall
[ED]]
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88. A car that pitches and tosses in normal driving and leans heavily to the side in turns is likely to have

trouble in which of the following systems?
[2X] HAEoZ XE =
A. ignition B. steering C. brake D. suspension

ANSEX B.28EX CHOEX D.ANH HEEX
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89. Which traffic is required to stop if a school bus makes a passenger stop in the far

right lane on a five lane street?

[2H] SNESHHAI 5N S22 H QEXE UMM S

A. All lanes of traffic

B. Lanes going in the same direction as the school bus
C. Lanes going in opposite direction of bus

D. Tuning lane only

[2D1]

A B=E ¥

B. stLSsttiAgt 22 dS22 It= e

C. SuSstHAL Ot 2= YN 2= &
D. 3ld 8t Xt
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90. Maximum speed limit for a full size public school bus in North Carolina is:

[2H] 2YSD SSHAI =8 & & AUs
A.55 MPH B.45 MPH C. 35 MPH D. 25 MPH
[20]]
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In densely packed snow you should...use chains or snow tires.
If you must drive during heavy snow or fog, use your... low—beam headlights.
Alcohol-related highway deaths account for... 38% of all traffic fatalities.

If you accumulate 7 or more points on your traffic record you may... attend a Driver Improvement Clinic
to deduct three points from your driving record.

The traffic conviction that adds the highest number of points (5) to your driving record is... passing a
stopped school bus that is loading or unloading children.

"Secondary roads" are roads where... hills are more likely to be more steep and curves are likely to be
more sharp than on primary roads.

Unless otherwise posted, the speed limit in cities and towns is... 35 miles per hour.

To have a revoked driver license restored, you must... visit a driver license office, pay a restoration fee,
and reapply for a license.

When three vehicles reach a 4-way stop at the same, the right of way belongs to... the car on the right.

If a vehicle sways freely, leans heavily to one side during a turn or seems to bounce continuously,
there may be a problem with the...suspension system.

If you experience a breakdown, you should... pull over to the side of the road and raise the hood of
your car.

To maintain a safe driving distance between your car and the car in front of you, you should... use the
two—second rule.

|f you take any medication before you drive, you should... find out what effect the medicine has.

If you are planning a long road trip, you should... stop and rest every 100 miles.

Before passing another vehicle, you should... look ahead to ensure that there is enough room for you
to pass.

When driving down a very steep hill, you should... shift into a lower gear to control your speed.
If you run off the side of the road, you should... gradually take your foot off the gas pedal.

When travelling on rural highways, farm equipment usually... travels at its maximum speed of 15-20
mph.

If you are driving into a circle you should... yield to cars already in the circle.



If you are in a crash, you should... move your car off of the road.

School buses are required to... stop at all railroad crossings.

In city traffic, you should... be alert for drivers who make quick stops.
Truckers have serious blind spots into which cars can disappear from view.

Unless there is a sign indicating no turn on red, you can turn right on red... after stopping and making
sure that the turn can be made safely.

For any underage person who aids or abets another attempting to purchase any alcoholic beverage,
the law requires... a one-year driver license revocation.

Your license will be revoked immediately if your blood alcohol concentration is at least... 0.08 percent.
When approaching a road that is blocked from view you should... stop and proceed with caution.
Defensive drivers check their rear view mirror and side mirrors roughly... every 10 seconds.

If going 45 miles per hour, how far ahead should you signal before turning?.. 200 ft.

If you plan to turn and are not in the proper lane to do so, you should... continue to the next
intersection, then turn.

The most common type of accident on a highway is a rear—end collision

When driving behind someone... you should not use your high beams

To dry wet brakes, gently apply the brakes

"Don't hang out in the No zone" refers to not being... in truckers' blind spots

When approaching a railroad crossing... slow down and prepare to stop

If you pull up to a red arrow, the turning lane is the only lane that should stop

if you are a pedestrian walking along side the road at night, you should carry or wear something white
Use high beams When driving on a highway and no car is approaching

Slippery roads are most likely to occur when It has just begun to drizzle or rain

When traveling behind a farm vehicle on a two—lane road Wait until the farm vehicle has the chance to
pull over to the side, then pass with caution

Large trucks (tractor trailers) Have large blind spots to the side and rear



° When preparing to make a right—hand turn Turn on your turn signal and approach the right—hand side
of the road

e A'shoulder check" is A quick glance over your shoulder on the side in which you intend to turn or
change lanes

. When you get tired on a long trip, you should Stop and rest
e  When taking a long trip, you should Plan to stop and rest every 100 miles
And the number one most inane question I've heard so far:
° Q: If you are following a car at night, how do you know if the road is bumpy?
A: You watch the tail-lights.

There is also a visual test where you will be asked to identify common traffic signs by their shape and color
only. For example, they show you a red octagon and you must identify it as a stop sign. Crazy. Here are a few
other examples:

° A blank white square with black border: Speed Limit
° An orange triangle on its side, pointing to the right: No passing sign
° A yellow circle with a large X in it extending to the sides of the circle: Railroad crossing

° Inverted red triangle with a white center: Yield
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